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Compound Interest

The amount A that principal P will be worth after t years at interest rate r,

compounded annually, is given by the formula: /4 _ p(/*é‘ ﬁ) 7

Staka 7%’5’5@ ‘Example: Suppose $4000 principal is invested at 6% interest and yields $5353. For
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Population Growth - aﬁ
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One mathematical formula for describing population growth is the formula: y
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where Pg is the number of people at time 0, P is the number of people at time t, and
k is a positive constant depending on the situation.

=0 t=/o
Example: The population of the United States in 1970 was 208 million. In 1980 it
was 225 million. Use the data to find the value of k and then use the model to
predict the population in 2000.
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il. - Population Growth
@ . One mathematical formula for describing population growth is the formula:
where Pg is the number of people at time 0, P is the number of people at time t, and
kisa positive constant depending on the situation.
Example: The population of the United States in 1970 was 208 million. In 1980 it

was 225 million. Use the data to find the value of k and then use the model to
predict the population in 2000.
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111 Radioactive Decay

in a radioactive element, some of the atoms are always transforming themselves
into other elements. Thus the amount of a radioactive substance decreases. This is
called radioactive decay. A model for radioactive decay is as follows:

W= A, o Kt

where Ny is the amount of a radioactive substance at time 0, N is the amount at time
t, and k is a positive constant depending on the rate that a particular element decays.

j: Example: Strontium-90, a radioactive substance, has a half-life of 25 years. This
(/@j " means that half of a sample of the substance will remain as the original element in
25 years. Find kin the formulafgnd then use the formula to find how much of a 36

%&i it gram sample will remain after 100 years.
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